LB 3: Lokale Extrempunkte - Lésungen

1) f(x)=2x* —4x+2
> f(X)=4x-4 > 4x-4=0 > xg =1
> f'(x)=4 > ' (1)=4>0 > Minimum f(1)=0 > T(1;,0)

2) f(x)=—2x*+4ix—-%
f(x)=—%x+4 > —4x+1=0 > xe =2=0375
f'(x)=-4<0 > Maximum f(2)=2 =-0,2396 > H(0,375; -0,2396)

3) f(x)=3x®-6x2+4x-5
f(x)=9x®—12x+4 > 9x* -12x+4=0 > X =2=~0,667
f'(x)=18x-12 > '(2)=0 > keinExtrempunkt

4) f(x)=-x* +4x* +4x + 4
f(x)=-3x>+8x+4 > -3x*+8x+4=0 > Xg =-04305 xg, =3,0972
f'(x)=—6x+8
(-0,4305)=10,6 >0 > Minimum f(-0,4305) =31 > T(-0,43; 3,1)
£(3,0972) ~ 10,6 <0 > Maximum f(3,0972) ~ 25,05 > H(3,0972; 25,05)

5) f(x)=x4—2x3+x2—2x+1
f'(x)=4x® -6x*+2x-2 > 4x®-6x*+2x-2=0 > x; =1398

(
f'(x)=12x* —12x +2 > £'(1,398) = 8,7 >0 > Minimum f(1,398) ~ —1,4864 > T(1,398;

6) f(x)=—Ix* +1x®+3x%-2x+4

X

—1,486)

—4x%+3x%+3x-2 > —4x°+3x%+3x-2=0> X =—1168 X, ~0,205 x5 ~2088

)=
X)=—4x?+3x+3
1,168) = —5,96 <0 > Maximum f(-1,168) =~ 2741 > H(-1168; 2,741)
,205) ~ 3,45 >0 > Minimum f(0,205) ~ 1,2634 - T(0,205; 1,263)

f'(
£
f'(-
f'(0
£'(2,088) = -8,17 <0 > Maximum f(2,088) =~ 4,6967 - H(2,088; 4,6967)
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